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CHAPTER-1
NATURE OF LOGIC

One mark questions

(Answer in one sentence, each question carries one mark)

1.
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e WNEPOLO®®NOULAEWNDNRO

In which country logic was developed? (K)

In Ancient period what do they call the sophists? (K)
What is the Basic purpose of sophists? (U)

Who is the First person who opposed the sophists? (K)
Who is the father of Western Logic? (K)

Who is the father of Modern Logic? (K)

Who is the father of Indian Logic? (K)

Who is the founder of Deduction Logic? (U)

Which philosopher told that “Unexamined life is not worth for living” (U)
Which philosopher told that “Cogito ergo Sum-“ | doubt therefore | understand? (U)
What is Logic? (U)

Which is the subject matter of Logic? (U)

Basic meaning / Definition of Logic? (K)

Who is the father of Logic? (U)

What is thought? (U)

What is Science? (U)

What is art? (U)

What is Normative Science? (U)

What is Inference? (U)

What is Deductive Inference? (U)

What is Inductive Inference? (U)

What is the meaning of reasoning? [K]

What is formal Logic? (K)

What is Material Logic? (K)

What is Normative Science? (U)

Two Marks Questions

(Answer in two sentences each question carries two marks)

1.

L Ko N U R WD
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N = O

Mention Ancient Greek Philosopher. (K)
Who is the sophists? (K)

What are the kinds of inference ? (K)
What is form and matter of thought? (U)
What is matter of thought? (U)

What is formal thought? (U)

What is truth? (U)

What is validity? (U)

Who is the first person who opposed the basic purpose of sophists? why? (K)
What is the basic purpose of sophists? (U)
What is valid science of thought? (U)
What is valid science of inference? (U)



13. What is positive science/real science? (U)
14. Name the Normative Science. (K)
15.  Why logic is known as Normative Science? (K)
Short Notes Five Marks
(Write in 10-15 Sentences, each question carries_five marks)
Need of rational thinking (U)
Thought as a problem solving process (U)
Logic as a science and an art (U)
Truth and Validity (U)

A w N

Five marks Questions

(Write in 10-15 Sentences, each question carries_five marks)
Explain the uses of Logic (U)

Write the definitions of Logic (U)

Explain the scope of Logic (U)

Explain logic as a Normative Science (U)

Explain Form and Matter of thought (U)

What is Inference? Explain the kinds of inference (K)

o Uk wnN e

Ten mark questions
(Answer in 25-30 sentences, Each questions carries Ten marks)
1. Explain the differences between Deductive and Inductive inference. (Skill)
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CHAPTER-2
LOGIC AND LANGUAGE

One Mark Questions

(Answer in_one sentence each questions carries one mark)
What is the main purpose of logic? (U)

How can Language be expressed? (K)

What are the rules in all language? (K)

What is the purpose of Universal language? (U)

What is Language? (U)

Who invented use of language? (K)

What is Psychology? (U)

Write the types of purposes of language. (K)

W oo NOU A WN R

What is Descriptive language? (U)

[
©

What is Expressive language? (U)
What is Performative language? (U)

[
=

12. What is Interrogative language? (U)

Two marks Questions

(Answer in two sentences each question carries two marks)
1. What is Descriptive Language? Give an example (K)
2. What is Expressive Language? Give an example (K)
3. What is Performative Language ? Give an example (K)
4, What is Interrogative Language ? Give a example (K)

Short Notes: Five marks

Five Mark Questions
1. Relation between Logic and language. (U)
2. Purpose of Languages. (U)

Five marks Questions

(Write in 10-15 Sentences, each question carries_five marks)

1. Explain the relation between Logic and language. (U)

2. Explain the purposes of Languages. (U)

3. Explain the Descriptive and Expressive language. (U)

4, Explain the perfomative and Interrogative Language. (U)

Ten Marks Questions

(Answer in 25-30 sentences, Each questions carries Ten marks)
1. Explain the purposes of language with examples. (Skill)
2. ‘Language is communication of thought’. Explain (Skill)
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CHAPTER-3

JUDGEMENT, SENTENCE AND PROPOSITION

One Mark Questions
(Answer in one sentence each question carries one mark):
1. What is mental process? (U)

2. What is called by complete meaningful group of words? (U)
3. What is proposition according to Aristortle? (U)

4, What is words give useful symbol? (U)

5. What is group of words? (U)

6. What is Subject term? (U)

7. What is Copula? (U)

8. What is predicate term? (U)

9. How many Types of classification of terms? (K)

10. What is called by only one word gives term? (U)

11. Which term uses more than one and more words? (U)
12.  Which term shows object and person characteristics? (K)
13.  Which term shows object or quality? (K)

14. Whatis a Judgment? (U)

15. Whatis a Sentence? (U)

16. Whatis Term? (U)

17. What s Logical Term? (U)

18. What is Grammetical Sentence? (U)

19. What is Logical Proposition? (U)
Two Marks Questions
(Answer in two sentence each question carries two mark)
1. What is Simple Term? Give an Example. (K)
What is collective term? Give an Example. (K)
What is Concrete term ? Give an Example. (K)
What is abstract term ? Give an Example. (K)
What is Negative term ? Give an Example. (K)
What is Private term ? Give an Example. (K)
What is negative term ? Give an Example. (K)
What is Connotative term ? Give an Example. (K)

Lo NOU A WD

What is Non- Connotative term ? Give an Example. (K)
What is absolute term? Give an Example. (K)

=
= o

What is Positive term? Give an Example. (K)
12.  Which are the parts of proposition. (U)
Give Logical Character of the following terms
1. Man 2. Deaf 3. Unhappy 4. Army
7.Beauty 8. Book 9. College 10. Bangalore
Short notes: Five Marks
(Write in 10-15 Sentences, each question carries_five marks)
1. Parts of proposition. (U)
2. Grammatical Sentence and Proposition. (U)

(V)

5. Solider

6. Honesty

12



Five Marks Questions
(Write in 10-15 Sentences, each question carries five marks)
1. Explain parts of proposition with an example. (U)
2. Explain the difference between proposition and grammar sentence. (U)
Ten Marks Questions
(Write in 25-30 sentences, each question carries_ten marks)
1. What is term? Explain classification of terms with examples. (Skill)

13
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CHAPTER-4
TRADITIONAL CLASSIFICATION OF PROPOSITIONS
One mark Questions
(Answer in one sentence each question carries one mark):
1. Name the three kinds of Proposition. (K)

2. Which proposition express the independent subject and predicate terms relation? (U)
3. Which Proposition express dependent subject and predicate terms relation? (U)
4, Mention the types of categorical proposition. (K)

5. Mention types of conditional proposition. (K)

6. Which are the two kinds of quantity? (K)

7. Which are the two kinds of quality? (K)

8. Mention term predicate applies to the subject? (K)

9. Mention term predicate not applies to the subject? (K)

10. What is proposition? (U)

11. State the basis for the classification of categorical proposition. (K)

12. What is categorical proposition? (U)

13. What is Conditional proposition? (U)

14. What is Universal Proposition? (U)

15. What is particular proposition? (U)

16. What is affirmative proposition? (U)

17. What is Negative proposition? (U)

18. Mention Distributive term? (K)

19. Mention Undistribute term? (K)

20. Write nemonic word? (K)

21. Write distribute term in A Proposition according to Euler. (K)

Two Marks Questions
(Answer in two sentences each question carries two marks)

1. Mention Four categorical proposition symbols (K)
Mention distributed and undistributed of SAP proposition (K)
Write distributed and undistributed of SEP proposition (K)
Write distributed and undistributed of SIP proposition (K)
Mention distributed and undistributed of SOP proposition (K)
Write Categorical propositions distribution symbols. (U)
Name the two types of conditional propositions. (K)
What is Hypothetical proposition? Give an example. (K)

W o NDU A WN

What is Disjunctive Proposition? Give an example? (K)
Expand the AE,1,0 (U)
What is the meaning of the distribution and Undistribution? (U)

[EE
= o

16



Short notes: Five Marks

(Write in 10-15 Sentences, each question carries five marks)
1. Three fold classification of Propositions. (U)
2. Four fold Classification of categorical proposition. (U)

Five Marks Questions

(Write in 10-15 Sentences, each question carries_five marks)
1. Explain the three fold classification of propositions. (U)
2. Explain the four fold classification of propositions. (U)

Ten Marks Questions
(Write in 25-30 sentences, each question carries_ten marks)
1. Explain the four fold classification of categorical propositions. (Skill)

2. Explain the distribution and undistribution of terms in categorical propositions. (Skill)
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CHAPTER-5
A. KINDS OF DEDUCTIVE INFERENCE
IM-MEDIATE INFERENCE
ONE MARK OUESTIONS:
(Answer in one sentence, each question carries one mark)
1. Whatis Im-mediate Inference? [K]
Write the rule of contrary opposion. [U]
Write the rule of sub-contrary opposition. [U]
Write the rule of contradictory opposition. [U]
What is ‘Convertend’? [K]
What is ‘converse’? [K]
What is ‘Obvertend’? [U]
What is ‘obverse’? [U]

O N VR WwN

TWO MARKS QUESTIONS:

(Answer in two sentences, each question carries two mark)
1. Name the two kinds of Deductive Inference? [U]

Define Deductive Inference. Give an example[K]

Which are the kinds of Immediate Inference? [U]

Define opposition of proposition. [U]

Which are the four kinds of opposition of propositions? [U]

Define subasltern opposition. [U]

Write the rule of subaltern opposition. [K]

What is contrary opposition? [U]

What is sub-contrary opposition? [U]

© 0N LA WN

[
o

. What is contradictory opposition? [U]

[y
[y

. What is conversion? [U]

. What is obversion? [U]

. Write the converse of -‘All men are mortal. [A]
. Write the converse of — No men are mortal. [A]

T
ud W N

. Write the converse of- * some men are mortal. [A]
. Write the obverse of —* All men are mortal. [A]

=
)

. Write the obverse of — “ No men are mortal. [A]

[
(o]

. Write the obverse of - * Some men are mortal. [A]
. Write the obverse of — “ some men are not mortal’? [A]
. Define Education. [U]

21. Name the kinds of education.[U]
SHOTR NOTES- FIVE MARKS:
(Write in 10-15 sentences, each question carries Five marks)
1. Subaltern opposition. [U]

N
o ©

2. ‘0’ proposition cannot be converted. [U]

FIVE MARKS QUESTIONS:
(Answer in 10-15 sentence, each question carries five mark)
1. Explain subaltern opposition with rules. [U]
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Write the rules of conversion. [U]

Particular negative proposition [0] cannot be converted’ Explain. [A]
Convert A, E and | propositions with the help of rules. [A]

Write the rules of obversion. [U]

o v e wWwN

Obvert A, E, I, O propositions with the help of rules. [A]

TEN MARKS QUESTIONS:
(Answer in 25-30 sentence, each question carries Ten marks)
1. Explain opposition of propositions with the help of square. [S]
2. Convert AEl propositions and obvert AEIO propositions with the help of rules. [S]
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B) MEDIATE INFERENCE/ SYLLOGISM

ONE MARK QUESTIONS:
(Answer in one sentence, each question carries one mark)
1. What is mediate Inference? [U]

2. Define categorical syllogism. [K]

3. Whatis major term? [K]

4, What is minor term? [K]

5. Define middle term. [U]

6. What is major premise? [U]

7. Define minor premise. [U]

8. Define pure syllogism.[U]

9. Write the third rule of categorical syllogism. [K]

10. Define mixed syllogism. [U]

11. Write the first rule of Hypothetical syllogism. [K]

12. Write the second rule of Hypothetical syllogism. [K]

13. Write the first mood of Disjunctive syllogism. [K]

14. Write the second mood of Disjunctive syllogism. [K]
TWO MARKS QUESTIONS:

(Answer in two sentences, each question carries two marks)
1. Name the kinds of mediate Inference. [U]

Define the fallacy of Ambigious major. [K]

Define the fallacy of Ambigious minor. [K]

Define the fallacy of Ambigious middle. [K]

What is the fallacy of lllicit major? [U]

What is the fallacy of lllicit minor? [U]

Which are the kinds of mixed syllogism? [U]

Define Hypothetical syllogism. [U]

Define Disjunctive syllogism. [U]

OO N A WN

SHORT NOTES — FIVE MARKS:

(Write in 10-15 sentences, each question carries five marks)
1. Structure of categorical syllogism. [u]

2. Kinds of mixed syllogism. [u]

3. Rules of Hypothetical syllogism. [u]

4. Moods of Disjunctive syllogism [u]

Test and explain the validity of the following arguments.
( Name the Fallacy and explain the violation of rule, each argument carries Five marks )
1. My hand touches the table.

The table touches the ground

.. My hand touches the ground [A]
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2. Light is essential to guide our steps.
Lead is not essential to guide our steps
.. Lead is not light [A]

3. No men are made of paper
All pages are men
.. No pages are made of paper [A]

4, All cold is dispelled by heat
His ailment is cold
..His aliment can be dispelled by heat [A]

5. All cows are quadrupeds
No dogs are cows
.. No dogs are quadrupeds [A]

6. No men are perfect
All men are animals
.. No animals are perfect [A]

7. All agriculturists are hard workers.
All scientists are hardworkers
.. All scientists are agriculturists. [A]

8. If it rains, the ground is wet.
It is not raining.
.. The ground is not wet. [A]

9. If a man is deaf, he talks loudly
This man talks loudly
.. This man is deaf. [A]

FIVE MARKS QUESTIONS

(Answer in 10-15 sentences, each question carries Five marks)

1. Explain the structure of categorical syllogism. [u]

2. “From two particular premises, no valid conclusion can be drawn” — prove this rule. [A]

3. Explain and prove that “from a particular major and a negative minor, no valid conclusion can be
drawn. [A]

4. Explain the rules of hypothetical syllogism with examples. [U]

5. Explain the moods of disjunctive syllogism with examples. [U]

TEN MARKS QUESTIONS:

(Answer in 25-30 sentences, each question carries Ten marks)

1. Write all the ten rules of categorical syllogism. [S]

2. “If one of the premise is particular, the conclusion should also be particular”.- prove this rule. [S]
3. Explain the kinds of mixed syllogism with examples. [S]
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CHAPTER - 6

Logical Definition
One Mark Questions
(Answer in one sentence. Each question carries one mark).
1. What is Logical definition? (K)
2 Define Proximate genus of term. (K)
3 What is Accidental definition? (K)
4. What is obscure definition? (K)
5

What is figurative definition? (K)

Two Marks questions.
(Answer in two sentences. Each question carries two marks).

1. What is Too wide definition? (K)

2 What is synonymous definition? (K)
3. What is Negative definition? (K)

4 Name the fallacy of the following.

a) Logic is the Medicine of Mind. (U)
b) Peace is the absence of War. (U)
5. Give an example of Synonymous definition. (U)

Short Notes — Five Marks

(Write in 10 to 15 sentence. Each question carries five marks.)
1. Rules of logical definition. (U)

2. Fallacies of Logical definition. (U)

Five Marks questions

(Write in 10 to 15 sentence. Each question carries five marks.)
1. Briefly explain the rules of Logical Definition. (U)

2. Peace is the absence of War” Is it Valid? Why? (U)

Ten Marks questions

(Write in 25 to 30 sentences. Each question carries five marks).
1. Explain the rules of logical Definition with fallacies. (S)
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CHAPTER -7
Modern Logic and Symboli Logic

(One Mark Questions)
(Answer in one sentence. Each question carries one marks.)

1) Who was the founder of Modern Symbolic Logic? (K)

2) What is Simple Proposition? (K)

3) What is Compound Proposition? (K)

4) Give an example of general Proposition. (U)

5) What is Law of thought? (K)

6) Define Law of Identity? (K)

7) When does the Conjunction True? (U)

8) When does the Disjunction False? (U)

9) When does the Implication False? (U)

Two Marks questions
(Answer in Two sentences. Each question carries Two marks.)
1) What is Conjunction? (K)
2) What is Disjunction? (K)
3) Mention the truth table of Negation? (U)
4) What is compound Proposition? (K)
5) Name the Kinds of Law of Thought. (U)

Short Notes — Five Marks

(Write in 10 to 15 sentences. Each question carries five marks.)
1. Truth table of conjunction. (U)

2. Truth table of disjunction. (U)

3. Truth table of implication. (U)

5. Law of excluded middle. (U)

5. Law of contradiction. (U)

6. Law of Identity. (U)

Five Marks questions
(Answer in 10-15 sentences. Each question carries Five marks.)
1) Explain the truth —Table of Conjunction. (U)
2) Explain the truth-table of Disjunction. (U)
3) Explain the truth-table of Implication. (U)
4) Explain the Law of Contradiction. (U)
5) Explain the Law of Identity. (U)

Ten Marks questions.
(Write in 25to 30 sentences. Each question carries ten marks)
1) Explain the Basic Law of Thought. (S)
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Chapter -8
Basic Elements of Indian Logic
One Mark Questions
(Answer in one sentence. Each question carries one mark.)
1) Who was the father of Indian Logic? (K)

2) Who wrote Nyayasutra?(K)

3) Which is the first epc of Indian Logic? (U)

4) What is Pratyaksha?(K)

5) What is Anumana Pramana?

6) What is Upamana?(K)

7) What is Pratijna?(K)

8) What is Hetu? (K)

9) What is Poorvavat Anumana?(K)

10) What is Sheshavat inference?(K)

11) What is Samanythodrista?(K)

12) What is Kevalanvayi inference?(K)

13) What is Kevalavyathirekhi inference? (K)

14) What is Anvaya Vyathirekhi Anumana? (K)

15) What is Swarthanumana?(K)

16) What is Pararthanumana?(K)

17) How many Sentences are required for swarthanumana?(U)
18) How many Sentences are required for Pararthanumana?(U)
19) What are the two kinds of Indian inference? (U)

Two Mark questions
(Answer in TWO sentences, each question carries TWO marks).

1) Name the two kinds of inference according to Indian Logicians. (U)
2) Name the Panchavaya Nyaya of Indian inference. (U)
3) Name the three Characteristics of Sadh-Hetu. (U)

Short Notes — Five Marks

(Write in 10 to 15 sentences. Each question carries five marks.)
1. Characterstic of Sadh - Hetu. (U)

2. Five kinds of Jnana according to Indian inference. (U)

Five Mark questions.

(Answer in 10-15 sentences, each question carries five marks)

1) Explain the characteristics of sadh-hetu. (U)

2) Explain the five kinds of jnana —according to Indian inference. (U)

Ten Mark Questions
(Answer in 25-30 sentences, each question carries TEN marks)
1) Compare and explain Indian inference and Aristotellian Syllogism. (S)
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GENERAL QUESTIONS

Five marks

(Answer in10-15 sentences, each question carries five marks),

O 00 N O U1 B WIN -

el o
N oA~ WNRERO

Social inequality Discuss. (U)

Discuss about the role of rational thinking in life.(U)

“Man is Social being” —Discuss. (U)

Write the role of student to protect the environment.(U)

“Logic is the basic of all sciences” — Write your opinion. (U)

Write the role of “Rational thinking in human life. (U)

Computer is essential in today’s life Give your opinion.(U)

Write your opinion about the “Uses of Internet”.(U)

Write about the Role of Student to build a good Society.(U)

Write about the Economic and Social Development of India in 20" Century. (U)
Social justice and corruption cannot go together” Discuss (U)

Write your opinion about “the eradication of corruption”. (U)

‘Women’s education helps for the development of society’. Discuss. (U)

State the characteristics of a good student. (U)

Religion encourages of blind belief. Discuss. (U)

Participation of students in Swaccha Bharat Andolan. Discuss. (U)

Give your opinion about ‘Advantages and Disadvantages of Mobile Phone’. (U)
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SUBJECT: LOGIC
SUB CODE: 23

PATTERN OF QUESTION PAPER - FIRST YEAR PUC

1. One Mark questions - 10x1 =10 ( No Choice)
2. Two Marks questions - 10x2=20 (Ten out of twelve)
3. Five Marks questions - 12x5=60 (Twelve out of eighteen)
4. Ten Marks questions - 1x10=10 (One out of two )
Total - 100 Marks 144 ( with choice)

l. 39N Qe g%ﬁ@ﬁ YOZ0% 10x1 =10
Il. 3$NS BRPYHTRTHL T g%ﬁ@ﬁ V302 10x2 =20
. A 30T OSnPoense g 10-15 mﬁéﬁe}g 358 2080%0. 4x5 =20
B. $$NS C3505)TORTR T, FRWNY ﬁdzouﬁéoﬁ:&d Toded2 /Y [0 4x5 =20
IV.A. 39NS O3RFHTOTTR TR g%ﬁ@ﬁ O30 2x5 =10
B. 3N C30R)TRTIR 2000 g%ﬁ O30 1x10 =10
V. 3$NS o3)mense 25 g%ﬁ@ﬁ YOZ0% 2x5 =10
W), 100
I Answer ALL the following questions 10x1=10
Il Answer any TEN of the following questions 10x2=20
lll A] Write short notes on nany FOUR of the following in 10-15 sentences 4x5=20
B] Test and explaion the validity of any FOUR of the following arguments 4x5=20
IV A] Answer any TWO of the following questions 2x5=10
B] Answer any ONE of the following questions 1x10=10
V Answer any TWO of the following questions 2x5=10
TOTAL 100
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BLUE PRINT OF THE MODEL QUESTION PAPER

Subject : Logic
Subject: Code 23

No. 1

I PUC
Time 3.15 hours

SI | Objectives No.of | Marks | Konowledge | Understanding Application | Skill | Total no. of questions
No. | Questions carrying marks hours allotted | 1 2 1 2 5 2 5 10 1 2 5 10
allotted VSA |SA |VSA |SA |LA |SA |LA |ET VSA |SA | LA |ET
1 Nature of logic 15 12 1 1 1 1 1 1 1 1
2 Logic and languages 06 08 1 1 1 1 1 1
3 Judgment sentence, and logical 15 10 1 1 1 1 1 2 1
proposition
4 Traditional classification of 16 12 1 1 1 1 1 1 2 2 2
preposition
5 Kind of deductive interference 45 30 1 1 1 | 1+1 5 1 1 2 |6+41] 1
6 Logical definition 05 04 1 1 1 1 1 2 1
7 Modern and symbolic logic 10 08 1 1 1 1 1 2 1 2
8 Basic elements of Indian logic 08 06 1 1 1 1 1 1
General Questions 10 2 2
Sub total 08 16 02 08 | 55 35 20 10 12 | 18 | 02
Total 120 100 24 65 35 20 42
144 42
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16. “ASEBINOP” &5 Zw=d, Q702
17. ‘TDomge” 0By * BOBEF'IT, TRV
18. ooz QDBINRET FOWO0T OTTEN?
19. ©@©0%03 mééﬁéﬁ QT YVTOTBTH BRE.
20. Rﬁeméj QABNRTHB DOTICNP 20T VTIVITTH BRE.
21, BOC3RERBONT), ATHLA. WY BOFEITZY, LTOWD.
22. BTITOF RBIVT DOTTET?

III A) 34N 3RPTTL POE 10-15 TeFRYY €Jed wowd: 4x5=20
23. 3%?%1& pkslewtoldatatel
24, LRTOD VTN,
25. TOIT W) ﬁoﬁmroﬁm@éﬁ Z0%F T ma’éﬁ@o.
26. BIANFF adﬁeﬁ TO8ET WOFNY WNer 30,
27. QATHe [WWZ OBWRIE T,

28. I0IET ATRTHBOD J0DTNLD.

39
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B) NS o3nRymendh womd IJR Q=0
38. ANIT WBY AAIT WDIPING IWIT BIVANTT), DTOX.
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BLUE PRINT OF THE MODEL QUESTION PAPER No -1

Subject : Logic I PUC
Subject: Code 23 Time 3.15 hours
SI | Objectives No.of | Marks | Konowledge | Understanding Application | Skill | Total no. of questions
No. | Questions carrying marks hours allotted | 1 2 1 2 5 2 5 10 1 2 5 10
allotted VSA |SA |VSA |SA |LA |SA |LA |ET VSA |SA | LA |ET
1 Nature of logic 15 12 1 1 1 1 1 1 1 1
Logic and languages 06 08 1 1 1 1 1 1
3 Judgment sentence, and logical 15 10 1 1 1 1 1 2 1
proposition
4 Traditional classification of 16 12 1 1 1 1 1 1 2 2 2
preposition
5 Kind of deductive interference 45 30 1 1 1 | 1+1 5 1 1 2 |6+41] 1
6 Logical definition 05 04 1 1 1 1 1 2 1
7 Modern and symbolic logic 10 08 1 1 1 1 1 2 1 2
8 Basic elements of Indian logic 08 06 1 1 1 1 1 1
General Questions 10 2 2
Sub total 08 16 02 08 | 55 35 20 10 12 | 18 | 02
Total 120 100 24 65 35 20 42
144 42
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FIRST PUC MODEL QUESTION PAPER - 1
Subject: Logic
Sub Code: 23 Time: 3 hrs 15 minutes, Marks:100

Note: Write the main question and sub question numbers clearly :

I. Answer ALL the following questions. 10x1=10
1. What is the subject matter of logic?

Define language.

What is Judgement?

Define categorical proposition.

What is conditional proposition?

Define minor term.

What is logical definition?

What is simple proposition?

Who is the founder of modern symbolic logic?

10. What is ‘prathyaksha’?

LN A WN

Il. Answer any TEN of the following questions: 10x2=20
11. Which are the two kinds of Inference?
12. What is interrogative language?
13. What is simple term and composite term?
14. Define Absolute term and relative term.
15. Which are the three-fold propositions?
16. Expand the word “ ASEBINOP”.
17. Define convertend and converse.
18. What is contradictory opposition?
19. Give two examples for figurative definition.
20. What is negative definition? Give an example.
21. Define conjunction and write the symbol.
22. What is pararthanumana?

lll A) Write short notes on any Four of the following in 10-15 sentences: 4x5=20
23. Uses of logic.
24. Purposes of Language
25. Hypothetical and Disjunctive propositions
26. Four-fold-classification of categorical propositions.
27. Structure of categorical syllogism.
28. Rules of logical definition.

B) Test an explain the validity of any Four of the following arguments: 4x5=20
29. My hard touches the table
The table touches the ground
.. My hard touches the ground



30. No flowers are green
All flowers are plants
.. No plants are green.

31. All doctors are honest
All lawyers are honest
. All lawyers are doctors.

32. If aman is deaf, he talks loudly
This man talks loudly
.. This man is deaf.

33. All cows are quadrupeds
No Dogs are cows
.. No dogs are quadrupeds

34. If it rains, the ground is wet
It is not raining
.. The ground is not wet.

IV. A) Answer any two of the following questions: 2x5=10

V.

35. Explain the kinds of laws of thought.
36. Explain the truth table of disjunction.
37. Explain Panchavayava Nyaya of Indian logic.

B) Answer any One of the following questions: 1x10=10
38. Explain the differences between Deductive and Inductive Inference.
39. Explain opposition of propositions with the help of square.

Answer any Two of the following questions: 2x5=10
40. Discuss about the role of Rational thinking in life.

41. Write your opinion about “the eradication of corruption”.

42. “Women’s education helps for the development of society”. Discuss
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FIRST P.U.C

Subject Code : 23 Scheme of Valuation Subject : Logic

Answer ALL following questions :

10x1=10

Thought’ is the subject matter of logic.

[ER

Language is the media of expressing thought.

Judgment is the inner process of mind /smallest unit of thought.

Relation between subject and predicate term does not depend upon any condition.

Relation between subject and predicate term depends upon condition.

In categorical syllogism subject of the conclusion.

Logical definition means clear cut explanation of the term defined/ entire connotation

Proposition consists only one statement.

.
1
2
3
4,
5.
6
7
8
9

George Bool is the founder of modern symbolic logic.

S N

10.

Knowledge comes out of sense organs is known as prathyaksha’.

[EY

Il. Answer any TEN of the following questions;

10x2=20

11.

1) deductive Inference

2) Inductive inference

12

Interrogative language is one which is used to ask questions in our daily life. Asking question
to get information.

13

Simple term is one which consists only one word.
Composite term is one which consists of group of words.

14

Absolute term is one which can stand independently.
Relative term is one which becomes meaningful only with reference to some other term.

15

1. Categorical proposition
2. Hypothetical proposition
3. Disjunctive proposition.

16

ASEBINOP’- ‘A’ distributes subject
‘E’ distributes Both

‘I distributes neither

‘O’ distributes predicate.

17

In conversion given proposition is known as ‘Convertend’. Inferred proposition is known as
‘converse’.

18

The relation between two categorical propositions having the same subject and same
predicate but differ both in quality and quantity.

19

The lion is the king of beats.
A came is a ship of desert.

20

Negative definitions is one which states things negatively instead of affirmatively.
Ex; light is not darkness.

21

Conjunction means two statements ate joined together by the word ‘and’ symbol ‘.’[dot].

22

Inference for the sake of others or Reasoning for convincing another.

A) Wr

ite short notes on any FOUR of the following in 10-15 sentences:

23

Uses of Logic: Logic is a science of thought,
1. Logic deals with the principles of correct thinking and systematic application.
2. Valid knowledge and reasoning develops with the study of Logic.

3. Develops[s the knowledge, student of Logic can think from many views.
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4. A student of Logic is better equipped to give explanations.

5. The study of Logic helps to avoid the mistakes in our reasoning and arguments of other
people.

6. The study of Logic helps us to cultivate the power of abstract thinking to every problem.
7. Logic helps us to cultivate the habits of thinking and argue correctly.

24 Purpose of language:-
1. Descriptive: The use of language for some descriptive purpose we understand our society
different objects around us through this descriptive language.
2.Expressive: Language is used for expressing our feelings. We find such use of language in
literature. A story, good poetry etc.
3. Performative: Language can be used to motivate somebody or to change his behavior.
Religious preaching illustrates the performative use of language.
4. Interrogative: We use the language to ask question in our daily life or even in specialized
fields of human knowledge. Asking question in order to get information or to discover things
is called the interrogative purpose of language.
25 Hypothetial and Disjunctive propositions:-
Hypothetical proposition:- It is a kind of conditional proposition in which predicate is related
with the subject under a condition.
Ex: if it rains, there will be a good crop.
There are two parts- 1. Conditioning part.
2. Conditioned part.
First part of the proposition is known as Antecedent-
Condition is involved in this per second part of the proposition is known as consequent-
depends upon first part.
Disjunctive proposition- It is a kind of conditional proposition in which an alternative
assertion is made on the subject and they are joined by the words ‘either or’.
Ex: signal light is either red or green. Though there are two alternatives but both can not be
true at the same time and both cannot be false at the same time. If one alternative is true
another one must e false. If one is false another one is true.
26 Four-fold-classification of categorical propositions depending upon quantity and quality
categorical proposition is divided into four kinds-
Quantity-1)unvirsal 2)particular.
Quality-1)Affinmative 2)negative
1. Universal affirmative proposition-SAP
2. Universal negative proposition-SEP
3. Particular affirmative proposition-SIP
4. Particular negative proposition-SOP
Ex: 1. All men are mortal
2. No men are mortal
3. some men are mortal
4. Some men are not mortal
Explain these four propositions
27 Structure of categorical syllogism-

Syllogism consists of three propositions. Each proposition consists of two terms. So, there
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are Six terms. But on keen examination we come to know that there are only three terms

each of which occurs twice.

1. Major term- predicate of the conclusion[P]

2. Minor term- subject of the conclusion

3. Middle term- which occurs in both the premises but not in the conclusion.
The premise in which major term occurs is known as major premise.
The premise in which minor term occurs is known as minor premise.
Infered proposition is called conclusion

Ex: all men are mortal-major premise

All kings are men- minor premise

Therefore all kings are mortal-conclusion

28

rules of logical definition:

1. definition should state the entire connotation of the term defined. Neither more nor less
2. a definition should not be expressed in obscure language.

3. definition should not be expressed in vauge or figurative language.

4. A definition should not contain the term defined or synonyms of it. In otherwords it
should not be ambigious.

5. A definition should not be negative when it can be affirmative.

Explain with examples

11l B] Test and explain the validity of any four of the following arguments:

4x5=20

29

1 2
My hand touches the table
3 4
The table touches the ground

.. My hand touches the ground

“Fallacy of Four terms”.

Violation of first rule of categorical syllogism.

Rule - syllogism must contain there and only three terms.

There is no middle tern in this argument. Hence no relation established between major and
minor term.

30

n p v v
No flowers are green - MEP

n S v x
All flowers are plants - MAS

S P v v
.. No plants are green - SEP

“Fallacy of lllicit minor”

Violation of fourth rule of categorical syllogism.

Rule- no term can be distributed in the conclusion unless it is distributed in the premises,
when the minor term is undistributed in the minor premise bur being distributed in the
conclusion is known as fallacy of illicit minor.
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31 p n v ox
All doctors are honest - PAM 2
S n v o x
All lawyers are honest - SAM
s P v o x
.. All layers are doctors - SAP
“Fallacy of undistributed middle”. 3
Violation of third rule of categorical syllogism.
Rule — middle term must be distributed at least once in the premises.
When middle term is undistributed in both major and minor premise is known as fallacy of
undistributed middle.
32 If a man is deaf, he talks loudly 1
This man talks loudly
.. This man is deaf.
“Fallacy of affirming the consequent”. 4
Violation of second rule of hypothetical syllogism.
Rule — To deny the consequent is to deny the antecedent but not conversely,
explain.
33 M P v x
All cows are guadrupeds — MAP 2
> M v v
No dogs are cows — SEM
S P
v v
..No dogs are quadrupeds- SEP 3
“Fallacy of lllicit major”.
Violation of fourth rule of categorical syllogism.
Rule no term can be distributed in the conclusion unless it is distributed in the premises.
When the major term is undistributed in the major premise but distributed in the conclusion
is known as fallacy of illicit major.
34 If it rains, the ground is wet.
It is not raining 2
.. The ground is not wet.
“Fallacy of denying the antecedent”.
Violation of the first rule of hypothetical syllogism. 3
Rule — To affirm the antecedent is to affirm the consequent but not conversely
explain.
IVA]JAnswer any two of the following questions: 2x5=10
35 1. The law of Identity- this law normally expressed as ‘A’ is ‘A’ or whatever is ‘is’ or ‘is’ thing 2
is what ii is. Thus it means a thing is Identical with itself. It remains the same a mid it is a
diversity of circumstances. Its qualities may change. But it remains the same Socrates, the
chaild, the youth are different and yet it is the same Socrates. It is this fundamental identity
in all changes that makes that systematic.
2. the law of contradiction: the principles of contradiction is very often stated and it cannot
2

both be A and not A or nothing can both be and not be or ‘A’ cannot be not ‘A’ thus stated
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the principle means that two contradictory judgments cannot both be true.

them is true, the other must be false.

3. The law of excluded middle- According to the law of excluded middle, two contradictory
propositions cannot both be false, if one of them is false, the other must be true. If one of

1
36 Truth table of disjunction-when two statements are joined by the term ‘or’ is known as
disjunction in disjunction always one disjunction true and another on e is false.
Ex : Delhiis the capital of India or Bangalore is the capital of India. 3
The symbol of disjunction is ‘V’ [vedge]
If P is true and Q is true PvQ is true.
If P is true and Q is false PvQ is ture.
If P is false and Q is true PvQ is true. 2
If p is false and Q is false PvQ is false.
Truth table
p q Pvq
T T T
T F T
F T T
F F F
37 panchavayava nyaya of Indian logic.
1. prathijna- that can be justified or explained.
2. heithu/ reason- that can be reasoned doubt. 1
3. udharane- the drastanta is complete comprehensive sentence which along with an 1
example shows the invariable relation between sadhya and hethu. 1
4. upanaya- it indicates the invariable relation between wristanta. 1
5. nigamana- conclusion. 1
Ex: 1. Prathijna- mountain has fire
B] Answer any ONE of the following questions: 1x10=10
38 Differences between deduction and Induction.
1. In deductive Inference we proceed from universal truth to particular truth. In Inductive 3
reasoning we proceed from particular truth to universal truth.
2. In Deductive Inference the conclusion cannot be more general than the premises.
In Inductive inference the conclusion will be more general than the premise.
3. In deduction conclusion is may be true or false. In induction conclusion is always true. 3
4. In deduction, conclusion , we proceed from universal to particular. And impotence is
given to formal truth.
5. In deduction, there is no necessity of Inductive leap. In Induction, Inductive leap is
necessary.
6. Deduction is Descending process but Induction is an ascending process.
7. In deduction observation and experiment is not necessary. In induction observation and
experiment is necessary. 4

Induction. i.e. Law of uniformity of Nature and law of causation are required.
Explain other differences.

8. In Deduction Aristotle Dictum and laws of thought is required. In Induction, postulates of
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39

Two categorical propositions having the same subject and same predicate but differ either in
quality or in quantity or both in quality and quantity is known as opposition

Square of oppositions of proposition A Contrary E 2
(%)
X
£ £ £
[ g] 2
HES B
S| o6 E
a O )
i, | o
1. Subalterm opposition - A-1and E-O. Sub-contrary
2. Contrary opposition —A-E 4
3. Sub — contrary opposition —I-O
Contradictory opposition —A-O and E |
Explain these four oppositions with rules. 2
V Answer any two of the following questions: 2x5=10
40 Considering the intelligence and skill of the student and the way of he is discussing giving the 3+2
marks.
41 The eradication of corruption:- Giving marks depending upon his discussion and considering 3+2
the skill of the student give the marks,
42 Women’s education kelps for the development of society”- give marks considering the way 3+2

of discussion and intelligence of the student about this matter.
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BLUE PRINT OF THE MODEL QUESTION PAPER No -2

Subject : Logic I PUC

Subject: Code 23 Time 3.15 hours

SI | Objectives No.of | Marks | Konowledge | Understanding Application | Skill | Total no. of questions

No. | Questions carrying marks hours allotted | 1 2 1 2 5 2 5 10 1 2 5 10

allotted VSA |SA |VSA |SA |LA |SA |LA |ET VSA |SA | LA |ET

1 Nature of logic 15 12 1 1 1 1 1 1 1 1
Logic and languages 06 08 1 1 1 1 1 1

3 Judgment sentence, and logical 15 10 1 1 1 1 1 2 1
proposition

4 Traditional classification of 16 12 1 1 1 1 1 1 2 2 2
preposition

5 Kind of deductive interference 45 30 1 1 1 | 1+1 5 1 1 2 |6+41] 1

6 Logical definition 05 04 1 1 1 1 1 2 1

7 Modern and symbolic logic 10 08 1 1 1 1 1 2 1 2

8 Basic elements of Indian logic 08 06 1 1 1 1 1 1
General Questions 10 2 2
Sub total 08 16 02 08 | 55 35 20 10 12 | 18 | 02
Total 120 100 24 65 35 20 42
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BLUE PRINT OF THE MODEL QUESTION PAPER No. -2

Subject : Logic I PUC

Subject: Code 23 Time 3.15 hours

SI | Objectives No.of | Marks | Konowledge | Understanding Application | Skill | Total no. of questions

No. | Questions carrying marks hours allotted | 1 2 1 2 5 2 5 10 1 2 5 10

allotted VSA |SA |VSA |SA |LA |SA |LA |ET VSA |SA | LA |ET

1 Nature of logic 15 12 1 1 1 1 1 1 1 1
Logic and languages 06 08 1 1 1 1 1 1

3 Judgment sentence, and logical 15 10 1 1 1 1 1 2 1
proposition

4 Traditional classification of 16 12 1 1 1 1 1 1 2 2 2
preposition

5 Kind of deductive interference 45 30 1 1 1 | 1+1 5 1 1 2 |6+41] 1

6 Logical definition 05 04 1 1 1 1 1 2 1

7 Modern and symbolic logic 10 08 1 1 1 1 1 2 1 2

8 Basic elements of Indian logic 08 06 1 1 1 1 1 1
General Questions 10 2 2
Sub total 08 16 02 08 | 55 35 20 10 12 | 18 | 02
Total 120 100 24 65 35 20 42
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FIRST PUC MODEL QUESTION PAPER - 2
Time : 3 Hours 15 Min SUBIJECT : LOGIC Subject: 23
Marks : 100

Note : Write the main question and Sub question numbers clearly:

I. Answer ALL the following questions : 10x1=10
What is the subject matter of logic?

What is language?

What is a proposition?

What is conditional proposition?

Write the distribution symbol?

What is middle term?

What is logical definition?

Who was the founder of modern symbolic logic?

W NU R WDN R

Name the types of modern classification of proposition.
10. How many sentences are there in Indian inference?

Il. Answer any TEN of the following questions: 10x2=20
11. Which are the kinds of inference?
12. Give an example of performative language.
13. What is simple term? Give an example
14. Define the concrete term? Give an example.
15. What is hypothetical proposition? Give an example.
16. Expand the A.E.I.O
17. What is opposition of Proposition?
18. Which are the kinds of mixed syllogism?
19. What is negative definition?
20. Name the fallacy “ The lion is king of beasts”
21. What is compound proposition?
22. According to the nature of hethu, which are the kinds of inference?

lll.(A) Write short notes on any FOUR of the following in 10-15 Sentences: 4x5=20
23. Definition of Logic
24. Logic and language
25. Parts of a Proposition
26. Classification of categorical proposition
27. Euler’s circle
28. Rules of obversion

(B) Test and explain the validity of any FOUR of the following arguments: 4x5=20
29. My arm touch the choke piece
Chokepiece touch the board
.. My arm touch the board
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30. All teachers are clever
All doctors are clever
.. All doctors are teachers

31. All cow are quadrupeds
No monkeys are cows
.. No monkeys are quadrupeds

32. No Men are perfect
All Men are animals
. No animals are perfect

33. If it rains, the ground is wet
It is not raining
.. The ground is not wet

34. All Cold is dispelled by heat
His ailment is cold
.. His ailment can be dispelled by heat

IV. A Answer any TWO of the following questions : 2x5=10
35. Explain the obscure definition.
36. Explain the truth table of conjunction.
37. Explain Panchavayava Nyaya inference according to Indian Logic.

B. Answer any ONE of the following questions : 1x10=10
38. Convert and obvert A.E.I.O propositions according to the rules.
39. Explain the basic law of thought

V. Answer any TWO of the following questions : 2x5=10
40. Religion encourages blind belief. Discuss
41. State the characteristics of a good student.
42. “Social justice and corruption cannot go together” . Discuss.
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FIRST P.U.C

Subject Code : 23 Scheme of Valuation Subject : Logic

Answer ALL following questions :

10x1=10

Thought or thinking is subject matter of Logic

The language, We understand a system of articulate sounds produced by the organs of
speech.

Two Logical terms relation named by proposition

Conditional proposition is assertion under conditions state the consequences that
necessarily follow from a certain condition

A term is distribution it is taken in it entire extent (V) !

The term which occurs in both the premises but does not occurs in the conclusion is
known as middle term.

Definition is defined as statement of the connotation of the proximate genus and the
differentia of the term

George boole is the founder of modern symbolic logi

Three types of modern classification of proposition
1. Simple proposition
2. Compound proposition
3. General preposition

10.

Inference included five sentences

. Answer any TEN of the following :

10x2=20

11.

Two types of inference
1. Deductive inference
2. Inductive inference

1+1

12.

EX: Friends ,be good human being yourself and then you will see people voluntarily
following you, Get rid of hatred and jealously . Believe in the power of good deeds. Be
courageous ! stop simply cursing other’s. Leave behind your good name when you
ultimately depart from this world.”

13.

The term is made up of a single word it is called a “ Simple term”.
Ex: Human Being Gandiji, Horse etc

1+1

14.

A term is concrete when it denotes individual existing, things, place, person
Ex: man, book, college etc.

1+1

15.

The hypothetical proposition affirms or denies under a condition called condition called
if .... Then
Ex: if you work hard then you will succeed

1+1

16.

Universal Affirmative
Universal Negative
Particular Affirmative
Particular Negative

1+1

17.

The relation between two categorical propositions having the same subject and same
predicate, differ either in quality or in quantity or both in quality and quantity is known
as opposition of proposition.

18.

There are two kinds of mixed syllogism they are
1. Mixed Hypothetical Syllogism

1+1
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2. Mixed Disjunctive Syllogism

19. A definition should not be negative when it can be affirmative, the definition should not 2
be negative unless the whole meaning is negative.

20. | The definition should not be expressed in vague or Figurative language. It involves 2

21. | Two statements joined together by the term if..... then 2

22. Inference has been divided into three types on the basis of Hethu. 1+1

1. Kevalanvayi
2. Kevala Vyatireki
3. Anvaya Vyatireki
1. A Write short notes on any Four of the following questions : 4x5=20
23. Definitions of Logic: 1
1. Aldrich: Logic as “ Art of Reasoning” 1
2. Keynes: Logic as “ the science which investigates the principles of valid 1
thinking” 1
3. Whately: Logic as “ the art and science of Reasoning” 1
Thomson: Logic as “ The science of laws of thoughts”
5. J.S Mill: Logic as “ The Science of the operations of the understanding
which are subservient to the estimate of evidence”

24. Logic gives knowledge about valid reasoning, we need language to express our thinking 2
to others Language is the media to express ones thinking, feelings and experience to 3
others. From this logic and Language are related.

25. | Three parts of proposition 2

1. Subject
2. Predicate
3. Copula - Explain with example 3
26. 1. The four fold classification of propositions are 1
1. Universal Affirmative Proposition
AllSareP 1
All men are mortal — SAP
2. Universal Negative Proposition 1
NoSisP
No men is perfect — SEP 2
3. Particular Affirmative Proposition
Some Sare P
Some men are wise- SIP
4. Particular Negative Proposition
Some Sare not P 2

Some men are not honest — SOP
2. Euler's Circle
“A” Proposition
The Small circle represented the subject from mini included in the
@ big circle which represents predicate term mortal.
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27. “E” Proposition 1
Here the two circle representing subject and
preg”
class exclude each other completely the circle never
meet
“I” Proposition 1
The subject term coincides with the part of the
representing predicate circle
“O” Proposition
1
The shaded part of the circle is
cq from the predicate circle.
28. | The rules of obversion
1. The subject of the obversion is the same as the subject of the 1
obvertend.
2. The Predicate of the obverse is the contradictory of the predicate of the 1
obverted. (By adding the term non P to the given predicate)
3. The quality of the obverse is the opposite of the quality of the obverted
i.e if the obverted is affirmative, the obverse is negative, if the obverted 1
is negative the obverse is affirmative.
4. The quantity of the obverse is the same as the quantity of the
obvertend i.e if the obverted is universal, the obverse is also universal. 2
If the obvertend is particular, the obverse is also particular.
B. Test and Explain the validity of any four of the following arguments : 4x5=20
29. My arm touches the chalk piece
Chalk piece touches the board 2
My arm touches the board
In this argument in valid because there are four terms My arm, touch, chalk, board, so
this argument is invalid. It commits the fallacy of four terms, Fallacy of equivocation
means the ambiguous use of a term in a syllogism Any one of the term is ambiguous we
commit the fallacy of equivocation. 3
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30. P M v x 2
All teachers are clever PAM
S M v %
All doctors are clever SAM
S P v x
All doctors are teacher SAP 3
The argument is invalid because it commits the fallacy of “undistributed middle” In this
argument middle term is and distributed in booth in the premises because major and
minor premises both are A proposition and middle term occurs in the predicate place in
both the premises.
31. M P v x
All cow are quadrupeds MAP 2
> M v v
No monkeys are cows SEM
S P v v
No monkeys are quadrupeds SEP 3
If major term is distributed in the conclusion without being distributing in the
conclusion without being distributing in the major premise, We commit “ The fallacy of
illicit major” This argument is invalid because it commits the fallacy of illicit major.
32. M P v v
No man are Perfect MEP 2
M S v x
All men are animals MAS
> M v v
No animals are perfect SEP 3
If the minor term is distributed in the conclusion without being distributed in the minor
premise, We commit “ The fallacy of illicit minor” This argument is invalid because it
commits the fallacy of illicit minor.
33. If it rains , the ground is wet
It is not raining
The ground is not wet 2
This argument is invalid because it commits the fallacy of “denying the antecedent”
According to the rule categorical minor premise should affirm the antecedent of the 3
hypothetical major premises. Then categorical conclusion affirms the consequent. But
in this argument categorical minor premise instead of affirming the antecedent it denies
the antecedent so, the categorical conclusion denies the consequent instead of
affirming
34. | All cold is dispelled by heat 2

His ailment is cold
His ailment can be dispelled by heat
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When in a syllogism middle term is used in one meaning in the major premises and
another meaning in the minor premise then the fallacy of ambiguous middle occurs. This
argument is invalid because it commits the fallacy of “ambiguous middle” in this
argument in the maior premise the middle term ‘cold’ means ‘childness but in the minor
premise the middle term cold means disease. 3
Iv. Answer any two of the following questions 2x5=10
35. A definition should not be expressed in obscure If the language of a definition is more 2
difficult than the term defined. It involves the fallacy of an obscure definition
Ex: 1. Person is an allowance made to anyone without an equivalent. 3
2. Cow is a kind of animal
36. Truth table of conjunction Explain with example
P Q P.Q 3
T T T
T F F
F T F 2
F F F
37. 1. Prathijna :- That can be justified or explained or the very beginning of the these is to 1
be established.
2. Hethu :- That can be reasoned doubt. Or paksata is a necessary condition of inference 1
3. Udaharana :- The Drastanta is a complete comprehensive sentence which along. With 1
an example shows the invariable relation between sadhya & hethu 1
4. Upanaya :- It indicates the invariable relation between Dristanta, Upanaya shows that 1
the Dristantha sentence applies to the particular instance. Or the knowledge of the
qualities of the paksha thought hethu
5. Nigamana :- Conclusion.
B. Answer any one of the following questions 1x10=10
38. | 38. Rules of conversion :- 3
1. The Subject of the converted becomes the predicate of the converse.
2. The predicate of the converted become the subject of the converse.
3. The quality of the converse is the same as that of the convertend. If the convertend is
affirmative. The convese is affirmative. And if the convertend is negative the converse is
negative.
4. No term can be distributed in the converse unless it is distributed in the convertend.
Convert AEIO propositions According to the rules
v x
1. All men are mortal - SAP
x X
Some mortals are men - PIS
v v 2
2. No men are mortal — SEP
v v
No mortals are men —PES
3. Some men are mortal —xSIPx
Some mortal are men x PI§
4. SOP — cannot be Converted
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Rules of obversion
1. The subject of the obverse is the same as the subject of the obvertend.
2. The predicate of the obverse is the contradictory of the predicate of the
obvertend. (By adding the term (non P) to the given predicate )
3. The quality of the obverse is the opposite of the quality of the obvertend i.e if the
obvertend is affirmative. The obverse is negative, if the obver-affirmative, the
obverse is negative, if the obver-tend is negative the obverse is a affirmative.

4. The quantity of the obverse is the same as the quantity of the obverted i.e. if the 3
obver tend is universal the obverse also universal if the obverted is particular the
obverse is also particular.
Obvert A-E.L.O propulsions according to the rules
1. All men are mortal — SAP
No men are Non mortal — SEP
2. No men are mortal — SEP
All men are non mortal — SAP
3. Some men are mortal — SIP
Some men are non mortal — SOP
4. Some men are not mortal - SOP
Some men are non mortal  — SIP 2
39. 1. The Law of Identity :- This Law normally expressed as ‘A’ is ‘A’ or whatever is ‘is’ 4
thing is what it is. Thus it means a thing is identical with itself. It remains the same amid
it is a diversity of circumstances. It qualities may charge. But it remains the same.
Socrates the child the youth are different and yet it is the same Socrates. It is this
fundamental identity in all changes that makes that systematic.
2. The Law of contradiction :- The principles of contra diction is very often stated and it 3
cannot both be A and not A or nothing can both be and not be or ‘A’ cannot be not ‘A’
thus stated. The principle means that two contradictory judgments cannot both be true.
3. The Law of excluded middle :- According to the law of excluded middle two
contradictory propositions cannot both be false. If one of the term is false. The other must
be true. If one of them is true. The other must be false. 3
V. Answer any two of the following questions 5x2=10
40. | 40. “Religion encourages blind belief” observe student, discuss student intelligence
obserue given marks. 2
Introduction
Explanation 3
41. | “State the characteristics of a good student” observe student, discus student intelligence,
observe given marks 2
Introduction
Explanation 3
42. | “ Social Justices and corruption cannot go together” Discuss observe student, discuss,
student intelligence observe given marks. 2
Introduction
Explanation 3
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BLUE PRINT OF THE MODEL QUESTION PAPER  No. -3

Subject : Logic I PUC

Subject: Code 23 Time 3.15 hours

SI | Objectives No.of | Marks | Konowledge | Understanding Application | Skill | Total no. of questions

No. | Questions carrying marks hours allotted | 1 2 1 2 5 2 5 10 1 2 5 10

allotted VSA |SA |VSA |SA |LA |SA |LA |ET VSA |SA | LA |ET

1 Nature of logic 15 12 1 1 1 1 1 1 1 1
Logic and languages 06 08 1 1 1 1 1 1

3 Judgment sentence, and logical 15 10 1 1 1 1 1 2 1
proposition

4 Traditional classification of 16 12 1 1 1 1 1 1 2 2 2
preposition

5 Kind of deductive interference 45 30 1 1 1 | 1+1 5 1 1 2 |6+41] 1

6 Logical definition 05 04 1 1 1 1 1 2 1

7 Modern and symbolic logic 10 08 1 1 1 1 1 2 1 2

8 Basic elements of Indian logic 08 06 1 1 1 1 1 1
General Questions 10 2 2
Sub total 08 16 02 08 | 55 35 20 10 12 | 18 | 02
Total 120 100 24 65 35 20 42
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BLUE PRINT OF THE MODEL QUESTION PAPER NO. -3

Subject : Logic I PUC

Subject: Code 23 Time 3.15 hours

SI | Objectives No.of | Marks | Konowledge | Understanding Application | Skill | Total no. of questions

No. | Questions carrying marks hours allotted | 1 2 1 2 5 2 5 10 1 2 5 10

allotted VSA |SA |VSA |SA |LA |SA |LA |ET VSA |SA | LA |ET

1 Nature of logic 15 12 1 1 1 1 1 1 1 1
Logic and languages 06 08 1 1 1 1 1 1

3 Judgment sentence, and logical 15 10 1 1 1 1 1 2 1
proposition

4 Traditional classification of 16 12 1 1 1 1 1 1 2 2 2
preposition

5 Kind of deductive interference 45 30 1 1 1 | 1+1 5 1 1 2 |6+41] 1

6 Logical definition 05 04 1 1 1 1 1 2 1

7 Modern and symbolic logic 10 08 1 1 1 1 1 2 1 2

8 Basic elements of Indian logic 08 06 1 1 1 1 1 1
General Questions 10 2 2
Sub total 08 16 02 08 | 55 35 20 10 12 | 18 | 02
Total 120 100 24 65 35 20 42
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FIRST PUC MODEL QUESTION PAPER - 3

Time : 3 Hours 15 Min SUBIJECT : LOGIC Subject: 23
Marks : 100
Note: Write the main question and Sub question numbers clearly
I. Answer ALL the following questions : 10x1=10
1. What is thought?
2.  What is Psychology?
3. Whatisterm?
4. Write the nemonic term?
5. What is undistributed symbol?
6. What is immediate inference?
7. What is obscure definition?
8. What is simple proposition?
9. Write Conjunction symbol.
10. Who is the exponent of Indian Logic?
Il. Answer any TEN of the following questions: 10x2=20
11. What is form and matter of thought?
12. What is interrogative Language?
13. What is general term ? Give am example
14. Define the negative term ? Give an Example
15. What is disjunctive proposition ? Give an Example
16. Name the two kinds of conditional proposition
17. What is contrary opposition ?
18. Define the fallacy of ambiguous major
19. What is synonymous definition?
20. Name the fallacy “ Rock is hard substance”
21. What is denying or negation?
22. Name the Panchavayava Nyaya of Indian inference
lll. A. Write short notes on any four of the following in 10-15 sentences : 4x5=20
23. Thought as a problem solving process
24. Expressive language
25. Difference between grammatical sentence and proposition
26. Three fold classification of propositions
27. Rules of conversion
28. Subaltern opposition
B. Test and explain the validity of any four of the following arguments : 4x5=20

29. My arms touches the table

The table touches the floor

.. My arm touches the floor
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30. Alldoctors are clever
All lawyers are clever
.. All lawyers are doctors

31. Allelephants are quadrupeds
No sheep are elephants
.. No sheeps are quadrupeds

32. If a man deaf, he talks loudly
This man is not deaf
.. This man is does not talks loudly

33. No men are honest
All man are animals
.. No animals are honest

34. |Ifitrains, the ground is wet
The ground is wet
. Ifis raining

IV(A). Answer any two of the following questions: 2x5=10
35. Explain the rules of logical definition

36. Explain the truth table of implication.

37. Explain classification of Indian interface.

B. Answer any one of the following questions : 1x10=10
38. Compare and Explain deductive and inductive inference
39. Explain the opposition of proposition with the help of Square

V. Answer any two of the following questions : 2x5=10
40. Explain the merits and Demerits of Internet.

41. Participation of students in Swaccha Bharath Andolan discuss.

43. Give your opinion about “advantages and disadvantages of mobile phone”.
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FIRST P.U.C

Subject Code : 23 Scheme of Valuation Subject : Logic
. Answer all the following question : 10x1=10
1. Non- existence mental process called by thought 1
2. All mental activities studied by psychology 1
3. Term is a group of words used as subject or predicate of a proposition 1
4, ASEBINOP 1
5. A term is undistributed it is taken in its partial extent ‘X’ 1
6. Immediate inference is a kind of deductive inference 1
7. Definition is more difficult than the term defined it involves the fallacy of an obscure 1
definition.
8. One and only one statement is known as simple proposition. 1
9. The symbol of conjunction “.” (DOT) “AND” 1
10. Gauthama was the exponent (father) of the Indian logic 1
1l Answer any TEN of the following questions.
10x2=20
11. We think about something the thing about which we think something this is the matter 2
of thought and we think it in particular way and this way of thinking is the from of
thought.
12. We use the language to ask questions in our daily life. Asking questions in order to get 2
information or to discover things is called interrogative language.
13. General term denotes a class of objects things or persons. 1+1
Ex: College
14. A Negative term implies the absence of an attribute 1+1
Ex : Unhappy.
15. | A disjunction proposition is one which affirms alternatives either ....... Or the disjunctive 1+1
propositions.
Ex : either Ais Bor AisC.
16. | Two kinds of conditional propositions are 1+1
(1) Hypothetical proposition
(2) Disjunction proposition
17. | The relation between two universal propositions having the same subject and predicate 1+1
differ only in quality is called contrary opposition the relation between SAP-SEP
18. Syllogism major term is used in one meaning in the major premise and another 2
meaning in the conclusion then the fallacy of ambigious major occurs.
19. A definition should not contain the term defined or synonyms of it. In other words it 2
should not be a tautologous. It involves the fallacy of a synonymous definition.
20. The definition contain less than the connotation of the name it becomes too wide and 2
will be applicable to a greater number of things, called by ‘Too wide definition’ fallacy.
21. Denying or negation of statement we use ‘No’ or ‘NON’ term‘’ the symbol of negation “ 1+1

~" (curle)
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22. 1. Panchavayava Nyaya names are
1. Prathijna
2. Hethu /Reason 1
3. Udaharana
4. Upanaya 1
5. Nigaman
. A. write short notes on any four of the following questions : 4x5=2
23. 1. Meaning of thought and character 1
2. Throght knowledge and understanding a eth gift of god through is the source of
knowledge 2
3. Knowledge , thought, and experience help him to solve his problem.
2
24, Expressive language uses for expressing our feelings use in literature, 1
Share our feelings to others 1
use in literature, 1
Expressive language A story, poetry essay, some biographies or autobiographies, etc. 2
25. Sentences : A Sentence is group of words 1
Proposition: Proposition is a statement in which something is said regarding 1
Mention sentence and Propositions differences
26. Three fold classification of propositions are
1. Categorical proposition meaning and give an example 1
2. Hypothetical proposition meaning and give an example 2
3. Disjunction proposition, meaning and give an example 2
27. Rules of conversion 1
1. The subject of the convertend becomes the predicate of the convers.
2. The predicate of the convertend become the subject of the converse. 1
3. The quality of the converse is the same as that of the convertend if the
convertend is affirmative , the converse is affirmative and if the 2
convertend is negative the converse is negative
4. No term can be distributed in the converse unless it is distributed in the 1
convertend.
28. Subaltern opposition between two categorical propositions having the same subject
and predicate,
similar in quality, but difference in quantity is called subaltern opposition
the relation between Al and EO. Explain
lll.B.Explain the validity of the any four of the following arguments: 4x5=20
29. My arms touches the table 2
The table touches the floor
My arm touches the floor
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This argument is invalid because it commits the “fallacy of four terms” A syllogism

consists of three terms, the major term, the minor term and the middle term, In this 3
argument there are four terms, my arm, table floor touches, so this argument is invalid
it commits the fallacy of ‘four term.
30. P M a 2
All doctors are clever PAM
S M v x
All lawyers are clever SAM
S P v %
All lawyers are doctors SAP 3
This argument is invalid because it commits the ‘Fallacy of undistributed middle’ this
argument is invalid because middle term is undistributed in both the premises because
major and minior premises both are A propositions, and middle term occurs in the
predicate place in both the premises.
31. M P 2
v ox
All elephants are quadrupeds MAP
S M v v
No sheeps are elephants SEM
5 P v v
No sheeps are quadrupeds SEP 3
This argument is invalid because it commits the ‘Fallacy of illicit major’ This arguments
is invalid because major term is distributed in the conclusion without being distributing
in the major premise, commit the fallacy of illicit major
32. If a man is deaf he talks loudly 2
This man is not deaf
This man is not talks loudly
This argument is invalid because it commits the ‘Fallacy of denying the
anteecedent’.This fallacy is committed in hypothetical syllogism antecedent it denies 3
the antecedents conclusion denies the consequent.
33. M P v x 2
No men are honest MEP
M s v %
All men are animals MAS
S P v v
No animals are honest SEP 3
This argument is invalid and commits the fallacy of ‘Fallacy of illicit minor’ This
arguments is invalid because minor term is distributed in the conclusion without being
distributing in the minor premise, commit the fallacy of illicit minor
34, If it rains, the ground is wet 2

The ground is wet
If is raining
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This argument is invalid and commits the Fallacy of “affirming the consequent this
argument is invalid because this argument minor premise instead of denying the

consequent it affirms the consequent, So the conclusion instead of denying the 3
antecedent it affirms the antecedents
IV. A. Answer any two of the following questions : 5x2=10
35. Write the meaning of logical definition
Rules :
1. Logical definition should state the entire connotation of the term defined
neither less nor more . 1
2. Logical definition should state the complete denotiation, neither less nor 1
mor while defining a term. 1
3. While defining a term we should not use equivalent term. 1
4. Alogical definition should always be positive. 1
5. Alogical definition should not use comparative or difficult words.
36. | Truth table of implication meaning and give an example
P Q P.Q 3
T T T
T F F
F T T 2
F F T
37. 1. Classification of Indian Inference Indian logical distinguish inference in three
different ways.
1. Purvavat : We perceive the antecedent and infer the consequent 1
Ex: Perceiving the clouds in the sky ,We conceive that it will rain
2. Sesavat: We perceive the consequent and infer the antecedent.
Ex: Perceiving the wet land , we conceive that rain has come 2
Samanyatodrasta: which with the support of is found in the support of
the sphere of sensuous objects. We reason about parallel cases in the 3
sub free of the super sensuous.
Ex: We know that an instrument like an axe needs a sentinent agent.
IVB Write any one question : 1x10=10
38. Deductive Inference
Deductive reasoning we proceed from Universal truth to particular truth
Ex : All men are mortal 2
Rama is man
.. Rama is mortal
Inductive Inference
Inductive reason we proceed from a particular truth to universal truth
Ex: Socrates Mortal
Plato Mortal 2
Aristotle Mortal
.. All men are Mortal
Mention Deductive and Inductive Inferences 6
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39. Square of proposition
Two propositions having the same subject and predicate if they differ in quality or in
quantity or in both is known as opposition of proposition It is represented in a square.

A Contrary E
<
e

c N c
e \ &
2 o g
= =

( ©
LA 3

o

| Sub- Contrary O
SAP-SOP, SEP-SIP — Contradictory

1. Contrary opposition :

The relation between two universal propositions having the same subject and predicate
differ only quality is called contrary opposition.

The relation between A E

2. Sub Contrary opposition :

The relation between two particular propositions having the same subject and
predicate differ only quality is called Sub contrary opposition.

The relation between 10

3. Subaltern Opposition :

The relation between two categorical propositions having the same subject and
predicate differ in quantity and quality remains same is called Subaltern opposition.

The relation between Al and EO

4. Contradictory Opposition :

The relation between two categorical propositions having the same subject and
predicate but differ both in quantity and quality is called Contradictory opposition.

The relation between AO and El

V. Write any two questions : 2x5=10
40. Explain the merits and demerits of internet observe student discuss and intelligence
given marks
Introduction
Explanation
41. Participation student in Swatcha bharat andolan observe student discuss and

intelligence given marks
Introduction




Explanation

42.

Mobile Phone advantages and disadvantages observe student discuss and intelligence
given marks
Introduction
Explanation
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